

Antinociceptive Potential of Dichloromethane Extract of *Rumex acetosa* Leaf in Albino Rats

Hyelda Stephen¹, Faith Emmanuel Nakya², Richard Martin Sirante³

^{1,3}Modibbo Adama University, Yola, Nigeria

²Adamawa State University, Mubi, Nigeria

hyelda.stephen@gmail.com

Article Info:

Submitted:	Revised:	Accepted:	Published:
Sep 5, 2024	Sep 14, 2024	Sep 17, 2024	Sep 20, 2024

Abstract

Rumex acetosa (Polygonaceae) is an ethnomedicinal herb and vegetable used to alleviate pain and inflammation. It is also commonly consumed as food. This study aimed to evaluate the antinociceptive effects of dichloromethane extracts from *R. acetosa* leaves using *in vivo* pharmacological models in albino rats. Dried leaf powder was extracted by maceration with dichloromethane (72 h). Acute oral toxicity was determined per OECD guidelines. Analgesic activity was assessed using tail immersion, hot plate (55°C) and acetic acid-induced writhing (0.7%) tests at doses of 50, 100 and 200 mg/kg body weight. Diclofenac sodium (25 mg/kg) served as reference drug. Phytochemical analysis was undertaken to screen major chemical classes. All doses of extract significantly ($p < 0.05$) increased mean basal latency of tail withdrawal and hind paw licking by 46-162% and 63-207% respectively. Maximum analgesic effect comparable to diclofenac was observed at 200 mg/kg. In acetic acid model, extract exhibited marked ($p < 0.05$) reduction in writhing frequency (55.49%) indicative of peripheral action. Preliminary phytochemical studies detected flavonoids, alkaloids, tannins and phenols as major compounds. *R. acetosa* leaf extracts displayed significant analgesic activity *in vivo* mediated via both central and

peripheral pathways. The findings validate the traditional use of *R. acetosa* in pain management.

Keywords: *Rumex acetosa*, Analgesic activity, Antinociceptive, Pain management, Dichloromethane extract.

INTRODUCTION

Pain is defined by the International Association for the Study of Pain (IASP), as “an unpleasant sensory and emotional perceptual experience arising from actual or potential tissue damage” (Raja *et al.*, 2020). Pain, a debilitating and multidimensional experience, is one of the most prevalent medical concerns globally, affecting millions of individuals and imposing substantial economic and societal burdens (Li *et al.*, 2018; Manchikanti *et al.*, 2020). Despite significant advancements in pain management strategies, many patients continue to experience inadequate relief, highlighting the need for the development of more effective and safer analgesic agents (Chen and Heinricher, 2019; Montgomery, 2022). Medicinal plants have long been recognized as valuable sources of bioactive compounds with diverse therapeutic applications, including pain relief (Choudhary *et al.*, 2021).

Pharmacotherapy using traditional non-steroidal anti-inflammatory agents (NSAIDs) and opioids form the mainstay for management of pain. However, substantial adverse effects like ulcers, bleeding, renal toxicity associated with chronic NSAID use poses barrier to therapy in vulnerable groups (Clive and Clive, 2020). Similarly, issues of tolerance, dependence and lethal overdose risks have promoted calls for judicious use of opioid analgesics (Macintyre *et al.*, 2020). These challenges have prompted interest in complementary and alternative medicine (CAM) including herbal remedies which demonstrate relatively better safety profile and cost-effectiveness (Ahmed *et al.*, 2023).

Rumex acetosa, commonly known as garden sorrel or green sorrel, is a perennial herbaceous plant belonging to the Polygonaceae family. This plant has been traditionally utilized in various folk medicine systems for its purported medicinal properties, including analgesic, anti-inflammatory, and antioxidant effects (Bello *et al.*, 2019). Recent phytochemical investigations have revealed the presence of numerous bioactive compounds in *R. acetosa*, such as flavonoids, phenolic acids, tannins, and anthraquinones (Hussain *et al.*, 2015).

These phytochemicals have been associated with various pharmacological activities, including pain modulation and anti-inflammatory effects (Saboon *et al.*, 2019).

In light of the promising pharmacological potential of *R. acetosa* and the growing demand for novel analgesic agents, the present study aimed to systematically investigate the analgesic activity of the dichloromethane leaf extract of *R. acetosa* using three complementary *in vivo* models: the tail-flick, hot plate, and acetic acid-induced writhing tests. These models encompass various pain modalities, including thermal, chemical, and inflammatory stimuli, thus providing a comprehensive assessment of the extract's analgesic properties (Adnan *et al.*, 2019). Additionally, a phytochemical analysis was conducted to identify the major bioactive constituents present in the extract, which may contribute to its observed pharmacological effects.

MATERIALS AND METHODS

Plant Material and Extraction

Fresh leaves of *Rumex acetosa* were collected from Sabon gari garden. Taxonomic identification and authentication were carried out by the Botany department, Adamawa State University, Yola. The collected leaf materials were shade-dried, pulverized to powder and subjected to extraction with dichloromethane using maceration method as described by Araya *et al.* (2019). The powdered plant sample was infused in dichloromethane for 72 hours and filtered using Whatman Filter Paper No.1. The filtrate was dried at 50 °C in a dry oven and stored at room temperature.

Experimental Animals

Twenty-five albino rats weighing 100-150g were used for this study. The animals were allowed to acclimatize for two weeks and maintained under standard room temperature and 12 hours of light/dark cycle. The rats were fed with standard diet and water *ad libitum* except for an overnight fast prior to sacrifice. The study protocol was approved by the Research Ethics Committee of Adamawa State University, Mubi as per prescribed guidelines by National Health Research Ethics Committee of Nigeria (NHREC, 2014).

Acute Toxicity Test

Rats were divided into groups of 4 each (mixed sexes) and treated orally with graded doses (250–4000 mg/kg body weight) of *Rumex acetosa* extract. The control group received the

vehicle (1% Tween 80 in water). Animals were observed for 72 hours, recording mortality and any signs/symptoms of toxicity in each group (Lorke, 1983).

Experimental Design

This study employed a randomized controlled experimental design to evaluate the analgesic potential of dichloromethane leaf extracts from *Rumex acetosa* at varying dose levels. 25 albino rats were randomly assigned to five groups of five animals each. Group I: Control (normal saline, 10 mL/kg body weight); Group II: Diclofenac sodium (25 mg/kg body weight, p.o.) as reference standard; Group III: *R. acetosa* dichloromethane leaf extract (50 mg/kg body weight, p.o.); Group IV: *R. acetosa* dichloromethane leaf extract (100 mg/kg body weight, p.o.); and Group V: *R. acetosa* dichloromethane leaf extract (200 mg/kg body weight, p.o.). The dried extract was reconstituted in normal saline containing 0.5% Tween 80 prior to oral administration by gavage. Diclofenac suspended in 0.5% Tween 80 was used as a positive control.

Phytochemical Screening

Phytochemical screening was conducted on the *R. acetosa* extracts to identify flavonoids, alkaloids, tannins, terpenoids, phenols, saponins, steroids and glycosides using standard methods (Harborne, 1998).

Test for Flavonoids

The aqueous plant extract was prepared by dissolving the plant material in distilled water. Following this, the presence of flavonoids was assessed by the addition of 2 ml of the prepared extract to 2 ml of a dilute solution of 10% sodium hydroxide. The development of an intense yellow hue upon the addition of sodium hydroxide served as an indicator for the presence of flavonoids, as described by Markham (1975).

Test for Alkaloids

One gram of plant extract was dissolved in 10 ml of diluted hydrochloric acid using a vortex mixer. The resulting solution was then filtered through filter paper to obtain the filtrate. Mayer's reagent, comprising Potassium Mercuric Iodide, was used to detect alkaloids. About 3 drops of Mayer's reagent were carefully introduced to the test tube containing the plant extract filtrate. The formation of yellow precipitates upon addition of the reagent signified the presence of alkaloids (Shah and Hossain, 2014).

Test for Tannins

Half-gram portion of the plant extract was dissolved in 2 ml of distilled water and subsequently combined with 2 ml of 0.1% ferric chloride solution. The appearance of blue-black or green-black colouration indicated the presence of tannins, as described by Hagerman and Butler (1989).

Test for Terpenoids

Salkowski test was performed to screen for terpenoids based on the formation of a red-brown colouration as described by (Dhandapani and Sabna, 2008). The test involved mixing 2 ml of a 1g/ml concentration of the plant extract prepared in distilled water with an equal volume of chloroform. Subsequently, 2 ml of concentrated sulfuric acid was gently layered onto the solution. The presence of terpenoids was indicated by the development of a reddish-brown colouration at the interface.

Test for Phenols

Phenols were tested for by adding 2 ml of the plant extract, prepared by dissolving 1 g of the extract in 5 ml of distilled water, to 2 ml of a 1% ferric chloride solution and mixed vigorously. The presence of phenols was denoted by the formation of a blue-black precipitate, as outlined in prior studies (Saeed *et al.*, 2012).

Test for Saponins

To test for saponin, 0.5 g of the extract was shaken vigorously in 2 ml of distilled water for 5 minutes. The presence of saponins was indicated by the persistence of frothing, in accordance with established protocols by Harborne (1998).

Test for Steroids

Steroids were detected using the Liebermann–Burchard reaction, which is based on the formation of a characteristic green-blue colouration. For this test, 2 ml of acetic anhydride was added to 0.5 g of the extract along with 2 ml of sulfuric acid. The change in colour from violet to blue or green indicated the presence of steroids (Dhandapani and Sabna, 2008).

Test for Glycosides

The presence of glycosides, a significant class of secondary metabolites, was determined using Legal's test. This involved mixing 1 ml of the extract with 1 ml of sodium

nitroprusside solution (0.5 g sodium nitroprusside in 100 ml water) and 1 ml of 10% sodium hydroxide. The appearance of a pinkish to blood-red colouration indicated the presence of glycosides (Edeoga *et al.*, 2005).

Test for Anthraquinones

Anthraquinones were assessed using the ammonium hydroxide test as outlined by María *et al.* (2018). A single drop of concentrated ammonium hydroxide was added to the extract previously dissolved in isopropyl alcohol, followed by a two-minute incubation period. The presence of anthraquinones was inferred from the formation of a red colouration.

In vitro Analgesic Activity of Rumex acetosa

Tail-Flick Method

The tail-flick method, following the protocol outlined by (Saha *et al.*, 2013), was employed to assess nociceptive responses in experimental rats. Rats were gently restrained within a wire mesh cage, with the lower halves of their tails immersed in cold water maintained at 4°C. The reaction time, defined as the duration (in seconds) until tail withdrawal from the water, was recorded. Threshold measurements were taken at 30 and 60 minutes before and after the administration of diclofenac (25 mg/kg, orally) or various doses of extracts (50, 100, and 200 mg/kg, orally), respectively. A control group received a dose of 10 mL/kg of distilled water.

Hot Plate Test

Experimental animals received treatment with either a control vehicle (1% Tween 80 in water, orally), diclofenac (25 mg/kg body weight, intraperitoneally), or *Rumex acetosa* extract (50, 100, and 200 mg/kg body weight, orally). Subsequently, they were placed onto a hot plate maintained at $55 \pm 0.5^{\circ}\text{C}$ to induce a pain stimulus, with assessments conducted every 30 minutes following treatment over a 60-minutes observation period according to method described by Sheikh *et al.* (2016). The response time, defined as the duration taken for paw licking or jumping, was recorded as an indicator of the analgesic effect of the treatment. A cutoff time of 15 minutes was implemented to prevent potential injury to the experimental animals.

Acetic Acid-Induced Writhing Test

The acetic acid-induced writhing assay was employed to evaluate the peripheral analgesic effects of *R. acetosa* leaf extracts by utilizing a chemical noxious stimulus. Experimental

animals of both sexes were divided into normal control, positive control, and test groups. Thirty minutes prior to the administration of acetic acid (0.7%, 10 ml/kg body weight, intraperitoneally), the normal control and positive control groups were treated with a vehicle (1% Tween 80 in water, orally) and standard diclofenac sodium (25 mg/kg body weight, orally), respectively. The test groups received *Rumex acetosa* extract at doses of 50, 100, and 200 mg/kg body weight orally. Five minutes after the administration of acetic acid, the animals were observed for a period of 10 minutes, during which the number of writhes in each group was recorded, following the methodology outlined by (Sheikh *et al.*, 2016).

Statistical Analysis

The results were reported as mean $\pm$ S.E.M. The statistical analyses were performed using one-way analysis of variance (ANOVA) in SPSS version 28. Group differences was analyzed by post hoc analysis using Tukey's test. For all tests, differences with values of $P < 0.05$ was considered significant.

RESULTS

Acute Toxicity

Acute oral toxicity testing of the *Rumex acetosa* leaf extract at doses between 250 mg/kg and 4000 mg/kg in rats showed no mortality or gross behavioural changes in any groups following 72 hours of observation. No signs of clinical toxicity including no changes in respiration, motor activity, posture or central nervous system function were noted in any rats during the monitoring period. The lethal dose (LD_{50}) for the extract was estimated to be higher than 4000 mg/kg body weight.

Phytochemical Composition

The qualitative phytochemical screening result of *Rumex acetosa* dichloromethane leaf extract as shown in Table 1, revealed the presence of saponins, tannins, alkaloids, glycosides, phenols, flavonoids and anthraquinones. steroids and terpenoids were absent.

Table 1: Phytochemical Constituent of *Rumex acetosa* Dichloromethane Leaf Extract.

Phytochemicals	<i>Rumex acetosa</i>
Tannins	+
Steroids	–
Saponins	+
Terpenoids	–
Glycosides	+
Flavonoids	+
Alkaloids	+
Anthraquinones	+

– = Absent; + = Present

Analgesic Activity

Tail-Flick Test

In the tail-flick test as shown in Table 2, treatment with the standard drug diclofenac sodium significantly increased ($p < 0.05$) the tail withdrawal reaction time at 30 minutes (38.97 ± 2.53 s) and 60 minutes (34.77 ± 2.29 s) compared to the normal control group (11.40 ± 1.24 s and 10.97 ± 3.21 s at 30 and 60 mins, respectively). Similarly, all the doses of *R. acetosa* extract (50, 100 and 200 mg/kg) elicited a significant ($p < 0.05$) and dose-dependent analgesic activity evidenced by the elongation of tail reaction times compared to control. At the highest dose (200 mg/kg), the extract increased reaction time to 39.04 ± 3.65 s and 46.60 ± 2.77 s at 30 and 60 minutes post-treatment, comparable to the standard drug.

Table 2: Effect of *Rumex acetosa* dichloromethane leaf extract on tail-flick test in rats.

Treatment	Dose (mg/kg)	Reaction time in seconds		
		0 min	30 min	60 min
Control (normal)	-	16.13 $\pm$ 1.43	11.40 $\pm$ 1.24	10.97 $\pm$ 3.21
Diclofenac	25	20.31 $\pm$ 2.22	38.97 $\pm$ 2.53*	34.77 $\pm$ 2.29*
<i>R. acetosa</i> extract	50	13.05 $\pm$ 3.45	17.44 $\pm$ 2.25*	21.72 $\pm$ 1.99*
<i>R. acetosa</i> extract	100	18.07 $\pm$ 3.48	24.90 $\pm$ 2.33*	36.60 $\pm$ 2.21*
<i>R. acetosa</i> extract	200	18.34 $\pm$ 3.01	39.04 $\pm$ 3.65*	46.60 $\pm$ 2.77*

Values are expressed as mean $\pm$ standard error of mean; * Significantly lower ($P < 0.05$) compared to the normal control; n=5.

Hot-Plate Test

The hot-plate test provided an indication of central analgesic action by measuring response latencies to an acute thermal nociceptive stimulus. As shown in Table 3, oral administration of the standard drug diclofenac resulted in a significant increase ($p < 0.05$) in mean basal reaction time from 5.35 ± 0.30 s to 8.14 ± 3.20 s and 9.33 ± 1.92 s at 30 and 60 minutes post-treatment. Similarly, all doses of the *R. acetosa* extract elicited a significant ($p < 0.05$) elevation in thermal pain threshold compared to control animals. The highest tested dose (200 mg/kg) increased reaction time from a basal value of 6.02 ± 0.43 s to 10.54 ± 1.01 s and 13.65 ± 1.50 s at 30 and 60 minutes.

Table 3: Effect of *Rumex acetosa* dichloromethane leaf extract on hot-plate test in rats.

Treatment	Dose (mg/kg)	Reaction time in seconds		
		0 min	30 min	60 min
Control (normal)	-	4.45 $\pm$ 0.45	3.31 $\pm$ 1.12	3.40 $\pm$ 2.01
Diclofenac	25	5.35 $\pm$ 0.30	8.14 $\pm$ 3.20*	9.33 $\pm$ 1.92*
<i>R. acetosa</i> extract	50	4.48 $\pm$ 0.93	7.75 $\pm$ 1.84*	8.88 $\pm$ 3.11*
<i>R. acetosa</i> extract	100	5.38 $\pm$ 0.23	8.99 $\pm$ 0.76*	10.34 $\pm$ 1.34*
<i>R. acetosa</i> extract	200	6.02 $\pm$ 0.43	10.54 $\pm$ 1.01*	13.65 $\pm$ 1.50*

Values are expressed as mean $\pm$ standard error of mean; * Significantly lower ($P < 0.05$) compared to the normal control; n=5.

Acetic Acid-Induced Writhing Test

As presented in Table 4, intraperitoneal administration of acetic acid to control animals resulted in 17.30 ± 2.1 writhes over the observation period. By contrast, the reference drug diclofenac sodium significantly ($p<0.05$) inhibited the number of writhes by 58.95% compared to control. Similarly, the *R. acetosa* extract dose-dependently and significantly ($p<0.05$) reduced acetic acid-induced writhing at doses of 100 and 200 mg/kg by 45.66% and 55.49%, respectively. However, the lowest dose of 50 mg/kg extract elicited only a modest 16.59% inhibition in pain response relative to control.

Table 4: Effect of *Rumex acetosa* dichloromethane leaf extract on acetic acid-induced writhing response in rats.

Treatment	Dose (mg/kg)	Writhing	% Inhibition of writhing
Control (normal saline)	–	17.30 ± 2.1	–
Diclofenac	25	$7.10 \pm 2.5^*$	58.95
<i>R. acetosa</i> extract	50	14.43 ± 2.4	16.59
<i>R. acetosa</i> extract	100	$9.40 \pm 1.8^*$	45.66
<i>R. acetosa</i> extract	200	$7.70 \pm 2.8^*$	55.49

Values are expressed as mean $\pm$ standard error of mean; * Significantly lower ($P < 0.05$) compared to the normal control; n=5.

DISCUSSION

The present investigation evaluated the analgesic properties of dichloromethane extracts of *R. acetosa* leaves in rats using three different experimental models. The findings demonstrated promising analgesic activity of *R. acetosa* mediated through both central and peripheral pathways.

In the acetic acid-induced writhing assay, *R. acetosa* elicited significant and dose-dependent inhibition of pain response, by reducing the number of writhes in mice. This analgesic effect is exerted peripherally via inhibition of prostaglandin synthesis, as well as other pain mediators like leukotrienes, cytokines etc (Deraedt *et al.*, 1980). The endogenous compounds modulate inflammation by increasing vascular permeability, exacerbating nociceptor sensitization and augmenting the pain response (Ronchetti *et al.*, 2017). Acetic

acid induction causes elevated levels of PGE2 and PGF2 α in the peritoneal fluid, responsible for the characteristic writhing response (Doe *et al.*, 2021). Agents with analgesic ability can mitigate this effect either by curtailing the synthesis, decreasing the local release or antagonizing the actions of such endogenous algogens. Our results are consistent with a previous study by Bae *et al.* (2012) where aqueous and ethanolic extracts of *R. acetosa* suppressed HCl/ethanol-induced gastric ulcer inflammation in mice, corroborating an anti-inflammatory mode of action.

The central analgesic activity of *R. acetosa* was characterized using the tail-flick and hot plate tests in mice. Both methods rely on phasic stimuli of thermal origin to induce nociception. Centrally acting analgesic compounds elevate pain response latencies by modulating subcortical sensory perception or enhancing descending inhibitory pathways (Chen and Heinricher, 2019). Our findings showed that *R. acetosa* extracts increased tail withdrawal latencies in the tail-flick assay and delayed forepaw reaction times against an acute thermal stimulus. This can be attributed to central inhibitory mechanisms involving opioid receptor agonism, adenosinergic neuromodulation as well as interactions with dopaminergic and descending noradrenergic systems that regulate spinal nociceptive reflexes (Kimmey *et al.*, 2022).

Phytochemical analysis of the extracts revealed the presence of various bioactive constituents like flavonoids, alkaloids, tannins and phenols which have established analgesic properties (Saboon *et al.*, 2019). Flavonoids such as rutin exert protective effects against neuropathic pain through attenuation of neuroinflammation and oxidative stress pathways in the spinal cord (Doe *et al.*, 2021). Similarly, several alkaloids including morphine, codeine, thebaine etc. mediate potent analgesia via mu opioid receptor binding (Kaserer *et al.*, 2020). Tannins like gallic acid and epigallocatechin gallate from green tea inhibit pain perception by modulating glutamatergic neurotransmission mediated by NMDA and AMPA receptors (Kabir *et al.*, 2021). The observed analgesic activity can be attributed to these phytoconstituents which act synergistically to modulate multiple molecular pain targets.

The present study reveals the promising analgesic potential of *R. acetosa*, further research is warranted to fully characterize the responsible bioactive principles and mechanisms of action.

CONCLUSION

The present study demonstrated the promising analgesic potential of dichloromethane leaf extracts of *Rumex acetosa* in rats using multiple pain models. The extracts elicited significant peripheral and central analgesic effects as evidenced by dose-dependent inhibition of acetic acid-induced writhing as well as increased tail-flick and paw withdrawal latencies in response to acute thermal nociceptive stimuli. The study provides support for the traditional analgesic use of *R. acetosa* and suggests it may offer a promising complementary and alternative therapy for pain management.

REFERENCES

- Adnan, M., Nazim Uddin Chy, M., Mostafa Kamal, A. T. M., Barlow, J. W., Faruque, M. O., Yang, X., Uddin, S. B. (2019). Evaluation of anti-nociceptive and anti-inflammatory activities of the methanol extract of *Holigarna caustica* (Dennst.) Oken leaves. *Journal of ethnopharmacology*, 236, 401-411. <https://doi.org/10.1016/j.jep.2019.01.025>
- Ahmed, S. N., Ahmad, M., Zafar, M., Yaseen, G., Iqbal, N., Rashid, N., Kousar, S., Haroon, A. (2023). Herbal Drugs: Safety, Cost-Effectiveness, Regulation, Current Trends, and Future Directions. In K. Arunachalam, X. Yang, & S. Puthanpura Sasidharan (Eds.), *Bioprospecting of Tropical Medicinal Plants* (pp. 1479-1493). Springer Nature Switzerland. https://doi.org/10.1007/978-3-031-28780-0_62
- Araya, E. M., Adamu, B. A., Periasamy, G., Sintayehu, B., Hiben, M. G. (2019). In vivo hepatoprotective and In vitro radical scavenging activities of *Cucumis ficifolius* A. rich root extract. *Journal of ethnopharmacology*, 242, 112031. <https://doi.org/10.1016/j.jep.2019.112031>
- Bae, J. Y., Lee, Y. S., Han, S. Y., Jeong, E. J., Lee, M. K., Kong, J. Y., Lee, D. H., Cho, K. J., Lee, H. S., Ahn, M. J. (2012). A Comparison between Water and Ethanol Extracts of *Rumex acetosa* for Protective Effects on Gastric Ulcers in Mice. *Biomol Ther (Seoul)*, 20(4), 425-430. <https://doi.org/10.4062/biomolther.2012.20.4.425>
- Bello, O. M., Fasinu, P. S., Bello, O. E., Ogbesejana, A. B., Adetunji, C. O., Dada, A. O., Ibitoye, O. S., Aloko, S., Oguntoye, O. S. (2019). Wild vegetable *Rumex acetosa* Linn.: Its ethnobotany, pharmacology and phytochemistry – A review. *South African Journal of Botany*, 125, 149-160. <https://doi.org/10.1016/j.sajb.2019.04.018>
- Chen, Q., and Heinricher, M. M. (2019). Descending Control Mechanisms and Chronic Pain. *Current Rheumatology Reports*, 21(5), 13. <https://doi.org/10.1007/s11926-019-0813-1>
- Choudhary, S., Zehra, A., Mukarram, M., Wani, K. I., Naeem, M., Hakeem, K. R., Aftab, T. (2021). Potential Uses of Bioactive Compounds of Medicinal Plants and Their Mode of Action in Several Human Diseases. In T. Aftab & K. R. Hakeem (Eds.), *Medicinal and Aromatic Plants: Healthcare and Industrial Applications* (pp. 143-158). Springer International Publishing. https://doi.org/10.1007/978-3-030-58975-2_5

- Clive, D. M., and Clive, P. H. (2020). Chapter 65 - Nonsteroidal Antiinflammatory Drugs and Opioids in Chronic Kidney Disease. In P. L. Kimmel & M. E. Rosenberg (Eds.), *Chronic Renal Disease (Second Edition)* (pp. 1071-1092). Academic Press. <https://doi.org/10.1016/B978-0-12-815876-0.00065-6>
- Deraedt, R., Jouquey, S., Delevallée, F., Flahaut, M. (1980). Release of prostaglandins E and F in an allogenic reaction and its inhibition. *European Journal of Pharmacology*, 61(1), 17-24. [https://doi.org/10.1016/0014-2999\(80\)90377-5](https://doi.org/10.1016/0014-2999(80)90377-5)
- Dhandapani, R., and Sabna, B. (2008). Phytochemical constituents of some Indian medicinal plants. *Anc Sci Life*, 27(4), 1-8.
- Doe, P., Danquah, C. A., Ohemeng, K. A., Opare, A. E., Sharif, A., Akua-Abora, D., Kwame Akuoko, A., Kpabitey, A., Quarshie, E., Asante, O. O., Amponsah, E. K., Mutwaliku, M., Nuro-Brefo, C., Ofori, M. (2021). Analgesic, Anti-inflammatory, and Anti-pyretic Activities of *Crinum pedunculatum* R.Br. Bulb Extracts. *Pharmacognosy Research*, 14(1), 24-29. <https://doi.org/10.5530/pres.14.1.5>
- Edeoga, H. O., Okwu, D., Mbaebie, B. (2005). Phytochemical constituents of some Nigerian medicinal plants. *African journal of biotechnology*, 4(7), 685-688. <https://doi.org/10.5897/AJB2005.000-3127>
- Hagerman, A. E., and Butler, L. G. (1989). Choosing appropriate methods and standards for assaying tannin. *Journal of Chemical Ecology*, 15, 1795-1810. <https://doi.org/10.1007/BF01012267>
- Harborne, A. (1998). *Phytochemical methods a guide to modern techniques of plant analysis*. springer science & business media.
- Hussain, M., Raza, S. M., Janbaz, K. H. (2015). Pharmacologically mechanistic basis for the traditional uses of *Rumex acetosa* in gut motility disorders and emesis. *Bangladesh Journal of Pharmacology*, 10(3), 548–554. <https://doi.org/10.3329/bjp.v10i3.23406>
- Kabir, M. T., Tabassum, N., Uddin, M. S., Aziz, F., Behl, T., Mathew, B., Rahman, M. H., Akter, R., Rauf, A., Aleya, L. (2021). Therapeutic Potential of Polyphenols in the Management of Diabetic Neuropathy. *Evidence-Based Complementary and Alternative Medicine*, 2021, 9940169. <https://doi.org/10.1155/2021/9940169>
- Kaserer, T., Steinacher, T., Kainhofer, R., Erli, F., Sturm, S., Waltenberger, B., Schuster, D., Spetea, M. (2020). Identification and characterization of plant-derived alkaloids, corydine and corydaline, as novel mu opioid receptor agonists. *Scientific Reports*, 10(1), 13804. <https://doi.org/10.1038/s41598-020-70493-1>
- Kimmy, B. A., McCall, N. M., Wooldridge, L. M., Satterthwaite, T. D., Corder, G. (2022). Engaging endogenous opioid circuits in pain affective processes. *Journal of Neuroscience Research*, 100(1), 66-98. <https://doi.org/10.1002/jnr.24762>
- Li, Z., Aninditha, T., Griene, B., Francis, J., Renato, P., Serrie, A., Umareddy, I., Boisseau, S., Hadjiat, Y. (2018). Burden of cancer pain in developing countries: a narrative literature review. *ClinicoEconomics and Outcomes Research*, 10(null), 675-691. <https://doi.org/10.2147/CEOR.S181192>
- Lorke, D. (1983). A new approach to practical acute toxicity testing. *Archives of toxicology*, 54(4), 275-287. <https://doi.org/10.1007/BF01234480>
- Macintyre, P. E., Roberts, L. J., Huxtable, C. A. (2020). Management of Opioid-Tolerant Patients with Acute Pain: Approaching the Challenges. *Drugs*, 80(1), 9-21. <https://doi.org/10.1007/s40265-019-01236-4>

- Manchikanti, L., Singh, V., Kaye, A. D., Hirsch, J. A. (2020). Lessons for Better Pain Management in the Future: Learning from the Past. *Pain and Therapy*, 9(2), 373-391. <https://doi.org/10.1007/s40122-020-00170-8>
- María, R., Shirley, M., Xavier, C., Jaime, S., David, V., Rosa, S., Jodie, D. (2018). Preliminary phytochemical screening, total phenolic content and antibacterial activity of thirteen native species from Guayas province Ecuador. *Journal of King Saud University - Science*, 30(4), 500-505. <https://doi.org/10.1016/j.jksus.2017.03.009>
- Markham, K. R. (1975). Isolation techniques for flavonoids. In *The flavonoids* (pp. 1-44). Springer. https://doi.org/10.1007/978-1-4899-2909-9_1
- Montgomery, L. S. (2022). Pain management with opioids in adults. *Journal of Neuroscience Research*, 100(1), 10-18. <https://doi.org/10.1002/jnr.24695>
- National Health Research Ethics Committee of Nigeria. (2014). *National Code for Health Research Ethics* (Revised ed.). Federal Ministry of Health, Nigeria.
- Raja, S. N., Carr, D. B., Cohen, M., Finnerup, N. B., Flor, H., Gibson, S., Keefe, F. J., Mogil, J. S., Ringkamp, M., Sluka, K. A., Song, X. J., Stevens, B., Sullivan, M. D., Tutelman, P. R., Ushida, T., Vader, K. (2020). The revised International Association for the Study of Pain definition of pain: concepts, challenges, and compromises. *Pain*, 161(9), 1976-1982. <https://doi.org/10.1097/j.pain.0000000000001939>
- Ronchetti, S., Migliorati, G., Delfino, D. V. (2017). Association of inflammatory mediators with pain perception. *Biomedicine & Pharmacotherapy*, 96, 1445-1452. <https://doi.org/10.1016/j.biopha.2017.12.001>
- Saboon, Chaudhari, S. K., Arshad, S., Amjad, M. S., Akhtar, M. S. (2019). Natural Compounds Extracted from Medicinal Plants and Their Applications. In M. S. Akhtar, M. K. Swamy, & U. R. Sinniah (Eds.), *Natural Bio-active Compounds: Volume 1: Production and Applications* (pp. 193-207). Springer Singapore. https://doi.org/10.1007/978-981-13-7154-7_7
- Saeed, N., Khan, M. R., Shabbir, M. (2012). Antioxidant activity, total phenolic and total flavonoid contents of whole plant extracts *Torilis leptophylla* L. *BMC Complementary and Alternative Medicine*, 12(1), 221. <https://doi.org/10.1186/1472-6882-12-221>
- Saha, S., Guria, T., Singha, T., Maity, T. K. (2013). Evaluation of Analgesic and Anti-Inflammatory Activity of Chloroform and Methanol Extracts of *Centella asiatica* Linn. *ISRN Pharmacology*, 2013, 789613. <https://doi.org/10.1155/2013/789613>
- Shah, M. D., and Hossain, M. A. (2014). Total flavonoids content and biochemical screening of the leaves of tropical endemic medicinal plant *Merremia borneensis*. *Arabian Journal of Chemistry*, 7(6), 1034-1038. <https://doi.org/10.1016/j.arabjc.2010.12.033>
- Sheikh, B. Y., Zihad, S. M. N. K., Sifat, N., Uddin, S. J., Shilpi, J. A., Hamdi, O. A. A., Hossain, H., Rouf, R., Jahan, I. A. (2016). Comparative study of neuropharmacological, analgesic properties and phenolic profile of Ajwah, Safawy and Sukkari cultivars of date palm (*Phoenix dactylifera*). *Oriental Pharmacy and Experimental Medicine*, 16(3), 175-183. <https://doi.org/10.1007/s13596-016-0239-5>